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Intro to bodies interactions
The attraction between two bodies is given by 
F= g*m1*m2/r2

Where F is force, g is the gravitational “constant” [aka fudge factor], m’s are masses for bodies one and two and r is the distance between them. 
Lets ignore m2 [its very very very small], then 



F= g*m1*m2/r2, becomes




F = g*m/r2 

With the Pythagorean theorem we can find the distance between two points
, x2 + y2 = r2





since, r2 = x2 + y2, then





F = g*m/(x2 + y2)

But, Fx = (cos ()*F, so 



          Fx = (cos ()*g*m/(x2 + y2)

Similarly,


    


          Fy = (sin ()*g*m/(x2 + y2)

Since atan y/x = (
Then,






Fx = (cos [atan y/x])*g*m/(x2 + y2) 

And,


   



Fy = (sin [atan y/x])*g*m/(x2 + y2)

Furthermore velocity is continuously updated by the forces acting on it.

Vx = Vx + Fx

Vy = Vy + Fy 
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